FIG.1
STEP 1

1. WITH SOMEONE HELP PLACE THE @
TABLE IN TO THE FLAT AND CLEAN
SURFACE, LATER PLACE THE LEGS IN

THE CORNERS OF THE TABLE AND <@J
ALIGN WITH THE PERFORATIONS AS
SHOWN IN FIG. 1

FLAT WASHER 5/16 X 1"

SPLIT LOCK WASHER 5/16

BUTTON SOCKET SCREW 5/16 x
1-1/2"

STEP 2

2. WHEN THE LEGS ARE IN THE
CORRECT PLACE IS TIME TO
INSERT THE SCRES AS SHOWN IN
PICTURE A AND REPEAT THE

STEPS IN THE 4 CORNES.
3. FINALLY WITH THE SOMEONE

HELP PLACE THE TABLE IN THE
CORRECT POSITIONS.

ASSEMBLING DESCRlPTlON“
M INSTRUCTIONS FLAT WASHER 5/16 x 1
SPLIT LOCK WASHER 5/16

BUTTON SOCKET SCREW 5/16 x1-1/2
INTERNATIONAL -TBL-E014 ALLEN KEYS 3/16

— |00 |0 | o |




ITEM DESCRIPTION
1RON003 RONDANA PLANA 5/16 X 1
1RONO11 RONDANA DE PRESION 5/16
1TOR005 TORNILLO ALLEN 5/16 x1-1/2
1HER251 LLAVE ALLEN 3/16

A

INTERNATIOMNAL

CODIGO:

COLECCION:




	Hoja1
	Vista de dibujo1
	Vista de dibujo2
	Vista de detalle A (1 : 6)
	Vista de dibujo4

	Hoja2

